
Home » SYNERGEE » SYNERGEE Leg Press Machine Installation Guide 

Contents
1  SYNERGEE Leg Press
Machine
2  PARTS LIST
3  HARDWARE SIZING CHART
4  Assembly Steps
5  Frequently Asked Questions
6  Documents / Resources

6.1  References
7  Related Posts

SYNERGEE Leg Press Machine

SYNERGEE Leg Press Machine Installation Guide

Manuals+ —  User Manuals Simplified.

https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/synergee
https://manuals.plus/synergee/leg-press-machine-manual.pdf
https://manuals.plus/#synergee_leg_press_machine
https://manuals.plus/#parts_list
https://manuals.plus/#hardware_sizing_chart
https://manuals.plus/#assembly_steps
https://manuals.plus/#frequently_asked_questions
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts


PARTS LIST





HARDWARE SIZING CHART



Assembly Steps

Step 1

Parts Needed: Main Frame, Triangle Frame, M10x70 Bolt, M10 Washer, M10 Nut

Step 2

Parts Needed: Plate Storage Frame, Front Feet, Rear Feet, Oval Washers, M10x100 Bolt, M10x90 Bolt, M10

Washer, M10 Nut

Step 3

Parts Needed: Main Slider, Angled Slider, Adjustment Pins

Step 4

Parts Needed: Plate Loader, Foot Rest, Leg Rest Bar, Angled Slider Extension, M10x45 Hex Bolt, M10 Washer,

M10 Nut

Step 5

Parts Needed: Upper Pulleys, M10x45 Bolt, M10 Washer, M10 Nut

Step 6

Parts Needed: Mid Pulleys, 95 Upper Cable, Carabiner

Step 7



Parts Needed: Single Pulley, 72 Lower Cable, M10x40 Bolt, M10x20 Bolt, M10 Washer, M10 Nut

Step 8 

Parts Needed: Handle Bars, Main Seat, Main Seat Frame, M10x130 Hex Bolt, M6x15 Bolt, M10 Washer, M10

Nut

Step 9

Parts Needed: Lower Cushion, Small Seat Frame, Pin, M10x130 Hex Bolt, M6x15 Hex Bolt, M10 Washer, M10

Nut





















Frequently Asked Questions

Q: What should I do if any pieces are missing?

A: If any pieces are missing from your leg press machine assembly, please contact us immediately at
HELLO@SYNERGEEFITNESS.COM or call 1.855.217.7136 for assistance.

Documents / Resources

SYNERGEE Leg Press Machine [pdf] Installation Guide
Leg Press Machine, Press Machine

mailto:HELLO@SYNERGEEFITNESS.COM
https://manuals.plus/m/1736eb1058301d7d7ace98591d4b43567ddd20137c117c9c47fa61d0585fe010
https://manuals.plus/m/1736eb1058301d7d7ace98591d4b43567ddd20137c117c9c47fa61d0585fe010_optim.pdf


References

User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.

https://manual.tools/?p=16454954#MTY3LjcxLjg0LjkyOzs7Ow==
https://manuals.plus/
https://manuals.plus/privacy-policy

	SYNERGEE Leg Press Machine Installation Guide
	SYNERGEE Leg Press Machine
	PARTS LIST
	HARDWARE SIZING CHART
	Assembly Steps
	Frequently Asked Questions
	Documents / Resources
	References



